GEOMETRY EXAM 3.2 Part II
SOLUTIONS
1. 3√2

2. 26.66

3. 149 OR 148.6 

4. 27

5. 4√6

6. 17

7. 47

8. √2

     2

9. 10√3

3

10. 4

11. 58

12. 25

13. 125

  2

14. 105

  2

15.
12

16.
2

17.

[image: image1.png]x=2)x-6)+(y-5)(y+12) =0
P —8x+12+ P +6y—55 = O
K= 8X+1e+ Y+ 6y+q = 4+64

(x—4P+(y+3)" = os.

This is the equation of a circle with center (4, -3) and radius VG3.




18.[image: image2.png]Find two angles in the diagram that are congruent, and explain why they are congruent.

Draw two radii as shown. Let mzBAC=x.
Then by the inscribed/central angle theorem, C
we have mzBOC = 2x.

Since ABOC is isosceles, it follows that A
meOCB =2(280° —2) = 90° —x.
By the radius/tangent theorem, mzOCP = 40°, B

S0 MLBCP=x.

We have £BAC = £BCP because they intercept
the same arc and have the same measure.




[image: image3.png]c

If B is the midpoint of AP and PC = 7, what is the length of PB?

By the previous question, A ACP and A CBP each have an angle of measure x and share
the angle at P. Thus, they are similar triangles.

Since A ACP and & CBP are similar, matching sides come in the same ratio. Thus,

m_r =2. =750 B T i gi -z
¢ AP Now, AP=2-PB, and PC=7, so - =28 This gives PB =

If m£BAC = 50°, and the measure of the arc AC is 130°, what is m£P?

By the inscribed/central angle theorem, arc BC 130°
has measure 100°. By the secant/tangent
angle theorem,

130° — 100°
mpP= —a =15° A

(One can also dvaw in radii and base angles in

triangles to obtain the same result.)




19.

[image: image4.png]Since the angle formed by the points (0, 6), (0,0), and (8,0) is
a right angle, the line segment connecting (0, 6) to (8,0) must

be the diameter of the circle. Therefore, the center of the circle
is (4, 3), the midpoint of this diameter.




[image: image5.png]Since this arc is a semicircle, it is half the circumference of the circle in length:
1
= "2 5= S5t

2
The length is S units.




[image: image6.png]We have a chord of length & in a circle of radius s.

Label the angle x as shown and distance d. Bg the Pythagorean

theorem, d = 4. We also know that sin(x) = 2 S0x=sin ‘;
this length is calculated as follows:

2% s
3607

2 sim ‘ c27- 5
360
i
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[image: image7.png]Draw a vadius from the center of the circle, (4,3), to
the point of contact, which we will denote (x, y).

This radius is perpendicular to the tangent line and has
—s P

Slope 3. Consequently, = = 1; that is, y—5=x— 4.
P eq Y 2 El

Also, since (x,y) lies on the circle, we have

(x—4P+(y—3) =25
For both equations to hold, we must have
e s 5 P .
(K= 4P+ (x—4)* =25, giving x = At orx=4-7 It is clear from the diagram
that the point of contact we seek has its x~coordinate to the right of the x-coordinate
of the center of the circle. So, choose x = 4 +%. The matching y-coordinate is

y=x-—4+3=x-1= 3+ﬁ,sothl,pvmt0f'£ommcthasLvordnnmzs(4+‘/2,3+fz)




20.

[image: image8.png]By the AA criterion, AABC ~ AABC. Let r be the scale factor of the similarity
transformation. Then, BC' = r- BC, and AC' = r - AC. Thus,

BC _rBC_BC_
TAC rACTACT
cosC'=cosC

cosC




